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QUESTION 1

A customer reports that while Installing Windows updates on their external Vscan servers, clients couldnot access any
files on their CIF-S SVM. The problem disappeared after the update process was completed. The customer wants to
prevent this issue from happening during the next patch window.

In this scenario, what are two ways to accomplish this task? (Choose two.)

A. Enable the -scan-mandatory flag in the Vscan policy.

B. Update the Vscan servers one at a time.

C. Modify the CIFS shares to be continuously available (CA) shares.

D. Disable the -scan-mandatory flag in the Vscan policy.

Correct Answer: AC

QUESTION 2
Referring to the exhibit

MCC-A: > metrocluster =show

Configuration: IP=fabric

Configuration State configured
Moda awitchover
AUSD Failur= Domain auso-disabled
Remata: MCC—B
Configuration State configured
Mods walting-for-switchback
AUA0 Failure Domain auac-disabled

What do you need to do to return the MetroCluster to a normal state?
A. Enter the metroclustor switchback command on Site B.

B. Enter the metrocluster switchback command on Site A.

C. Enter the storage failover giveback command on Site B.

D. Enter the storage failover giveback command on Site A.

Correct Answer: B

QUESTION 3



You are attempting to connect a NetApp ONTAP cluster to a very complex network that requires LIFs to fail over across
subnets. How would youaccomplish this task?

A. Configure an equal number of UFs on each subnet.

B. Configure VIP LIFs using OSPF.

C. Configure VIP LIFs using BGP.

D. Configure a | IF failover policy for each subnet inside a single broadcast domain.

Correct Answer: C

QUESTION 4

You notice poor performance on your FlexGroup and execute the system node run -node * flexgroup show command for
more Information. You notice the "Urge" column has non-zero values.

In this scenario, which statement is true?

A. The aggregate is completely full.

B. The constituent volumes are out ofinodes.
C. The data placement is uneven.

D. The constituent volumes are completely full.

Correct Answer: A

QUESTION 5

You recently discovered the error message shown below in your ONTAP logs.

[wafl.incons.userdata.vol:error] ; WAFL inconsistent: volume my data vol

What should be your first action to correct this Issue?

A. Power cycle all the disk storage shelves that contain drives of the aggregate with the my_data_vol volume.
B. Determine the root cause behind the inconsistency before attempting any recovery procedure.

C. Use the storage takeover command on the storage controller that contains my_data_vol.

D. Use the wafliron command against my_data_vol to solve the inconsistency on the volume.

Correct Answer: A

QUESTION 6



A customer calls you to troubleshoot a network issue. The customer wants to create a packet trace for allclients on the
192.168.9.0/24 subnet.

oll::> network interface show -vesscyer COIFS

Logical Ftatus Network CUErent Currant Ia
Vm=zve=r Int=rfac= Admin/Oper Address/Mask Hode Bort Home
CIfFS
nfsl up/fup 10.52.4.202716 £llnl e2a-1052
true
imc=al up/up 10.5%1.3.132/324 cllnl ala-3Z2
TEus
i=c=i2 up/up 10.55.7.114/24 cllnl ala-45E
true
EOmt up/fup 10.92.&6.200/18 clinl =Zm-1082
trus
nial upfup 192.168.3.9/24 clini eda-100
trus

cli::» natwork route show -veerver CIFE

Vasrv=r D==stinatico Gat=way M=tric
CIFs
g.o.0.0/f0 10.52.0.1 10
0.0.0.0/0 10.92. 0.2 20
10.81.50.140/32 1952.168.3.254 20
i92.166.9.0/24 192.166.3.254 20

5 mntriss wers displayed.

Referring to the exhibit, on which interface do you have to run the packet trace?
A. a0a-322

B. e2a-100

C. e2a-1092

D. a0a-456

Correct Answer: C

QUESTION 7

You are troubleshooting a CIFS connection issue that is reported by some users. You decide to collect a packet trace.
In this scenario, after you generate the packet trace, where do you find the trace file?

A. Ipacket_traces of the node hosting the LIF

B. /etc/log/packet_traces of the node hosting the LIF

C. /etc/log/mlog/packet._traces Of all nodes

D. /volO/paclcet_traces of the CIFS SVM

Correct Answer: C




QUESTION 8

Which two throughput elements are controlled by host applications? (Choose two.)
A. operation size

B. Jitter

C. concurrency

D. latency

Correct Answer: BD

QUESTION 9

A system panic due to an "L2 watchdog timeout hard reset" error occurred. You have found a FIFO message in the SP
log. Which FIFO message Is useful for Investigating this Issue?

A. before NMI BBSP:C=00 L=00 FIFO: F3F2F1FO5B20008020EFE3C0C2346799A
B. BIOS exit BBSP:C=2F L=20 FIFO: 2C8 C9C424461878 11

C. before Reset BBSP:C=00 L=00 FIFO:

D. ONTAP Shutdown BBSP:C=00 L=2F FIFO:

Correct Answer: B

QUESTION 10

You are optimizing your Cloud Volumes ONTAP. For interoperability and consolidation purposes, you need to know the
storagelimits. In this scenario, which source should be reviewed?

A. NetApp Cloud Volumes ONTAP Release Notes
B. Hardware Universe

C. Interoperability Matrix Tool (IMT)

D. Cloud Central

Correct Answer: A

QUESTION 11

You have a customer complaining of long build times from their NetApp ONTAP-based datastores. They provided you
packet traces from the controller and client. Analysis of these traces shows an average service response time of 1 ms.
QoS outputconfirms the same. The client traces are reporting an average of 15 ms in the same time period.

In this situation, what would be your next step?



A. The cluster is responding slowly and requires further investigation using performance archives.

B. The client that reports high latency should be investigated.

C. The cluster interconnects should be investigated.

D. A sync core should be triggered.

Correct Answer: B

QUESTION 12

Your customer has mounted an NFS SVM from a Linux client unci performance is very poor. The customer is certain
that they have jumbo frames enabled. They have verified an MTU of 9000 on both the Linux client and the broadcast

domain on the NetApp ONTAP 9.8 cluster.

olusterl::*> network interface show -ysecwver svml clusterd

Turrent Ia

Logical Status Ketwork Current
Ym=rw=r Interface Admin/Oper Address=/Mas=k Node Bort
ayml clusterl
cifs 01 up/up 192.1¢8.0.131/24 clusterl-01 elf
cifa D2 upfup 192 _ 168.0.132/24 clusteri-03 el
jumbo. 01 up/up 152.168.0.201/24 clusterl-01 =0g
Jumbo 02 upSup 192.168.0.202/24 cluaterl-02 alg
mgmt upSup 152.168.0.130/24 clusterl=-01 =0c

5 entries wera displayed.

slusterl::*> nstwork port broadcast—domain show —broadecast—domain Jusbo

IFapace Broadcast

Hame= Domsin Mame MT FPort List

Update

Atatus Detsils

Default Jumbo 3000

clusteri-0l:alf
clustarl-0l:alg
clustezrl-02:elf
clusterl-02:elg

camplats
complets
camplate
complete

Home

trus
Trus
truoe
TIrus
trues

Referring to the exhibit, which ONTAP command will help isolate a possible MTU mismatch?

A. network ping -1if jumbo 01
disallow-fragmentation false -packet-size 1000

network ping -1if jumbeo 01

-veerver svml_clusterl

-ysarver svml_ clusterl

disallew-fragmentation true -packet-size 9000

network ping -1if jumbo 01 -vserver svml clusterl

disallow-fragmentation true -packet-size 1000

D. network ping =-lif jumbo 01 -vserver svml_clusterl
disallow-fragmentation true -packet-size 5000

A. Option A
B. Option B
C. Option C

D. Option D

-destination

-destination

-destination

-destination 192.168.0.210

192.166.0.210

152.168.0.210

192.168.0.210



Correct Answer: B
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